StarTechy.om

Hard-to-find made easy®

Flat-Screen TV Wall Mount - For 32 in. to 75 in. LCD,
LED, or PlasmaTVs

FLATPNLWALL

*actual product may vary from photos

FR: Guide de I'utilisateur - fr.startech.com
DE: Bedienungsanleitung - de.startech.com
ES: Guia del usuario - es.startech.com

NL: Gebruiksaanwijzing - nl.startech.com
PT: Guia do usuario - pt.startech.com

IT: Guida per I'uso - it.startech.com

JP: BUi%EHEAZE - jp.startech.c

For the latest infor

this product, plea

Manual Revision: 01/10/2023



Warning statements Waarschuwingen

gen
injry of property damage. Tichamelklitse of mareiele schade onstaan.
product Ifyou exceed Isude
T oo it prodect
Supportthe following welght Up 0 75 k3 165 5. andersteunt ht volgende Gewicht 75 ko.
o 9
‘The wall mount s desgned tobe insalled on a wood stud,solid concrete The wall de
o
The mounting
The mouting 3
,contact gen,
Jourwall sructure, ontage.nstnuces voor  wanCAtrUCtUor te geven,
Dichiarazioni di avvertenza Varningsmeddelanden
Assemblre
2 persone o propries person el egendom uppst.
monitor o om vikapadie an sads
: o : o pes Tk
disupportare | seguenti pest 75 ks .
Non uiizzae Il rodotto n presenza i part mancantio danneggiate
a Tancato Kan skad i
plig Or
u
Sel per agy i , kontakta en professionell
perta struttura muraria h uso.
Avertissements Mensagens de aviso
¢ voussquez ¢
de vous blesser ou dendommager Féquipement. em feimentos pessoalsou danos e propriedade.
é 'Ce produit peut < : xceder
Supporterde 75 kg. SUportar o seguinte peco:75 kg
‘ manquantes
Jipement ¢ . vous > 5
pouvoir supp esriturade
S moins quatre 01 e pods de fequipement monté
mors, o ac Q hardware de
specifiques b votre structure de mur. o
Warnhinweise Advertencias de uso
Personen oder Schaden an Eigentum fihren. lesiones personales o dafios en la propiedad.
cht des Monitors ige Traglas des die Traglast e
had Dieses o del mo e
Produktist fir folgendes Gewicht geeignet: 75 kg. siguiente capacidad de carga: 75 kilogramos.
nicht . wenn .
chergestellt , por tant certeza
montierten Geréts halten konnen. n
N instalado.
nétigen
P iy
‘Wand erteilen. de pared. Lt P

StarTechg-0m

i Hard-to-find made easy

Instruction manual



Table of Contents

Warnings

Introduction

Product diagrams

Technical specifications

Package contents

Requirements

Installation

Attach the wall plate to the wall
Select the appropriate mounting hardware
Attach the brackets to the TV

Attach the TV to the wall plate

Adjust the tilt of the TV

Technical support

Warranty information

Instruction manual

StarTechy.0m

Hard-to-find made easy



Introduction

THE FLATPNLWALL offers a sturdy way to wall-mount any flat-panel TV ranging from 32
to 75 in. in size. The wall mount supports televisions that weigh up to 75 kg (165 Ib.).

Product diagrams

.
L
.
L]
.
1
Ll
L]
L]
L

Wall plate

Right bracket
Left bracket

StarTechy.0m

Instruction manual
1 Hard-to-find made easy



810 mm (32in.)

min 50 mm (2in.) to

max 765 mm (30in.)

p

/

500mm (20in.)

223 mm (8.8in.)

D s
J D -15°

min 75 mm (3in.) to max480 mm (19in.)

Instruction manual

l
0
L]
0
o
b
o
[
o
LA o

|y | )

= o:):)c:4 gl')i)
/pﬁ
/ r"J

|

e
VAR
- o oo ﬂ
\"
&5 \H

39 mm (15in.)

StarTechg-0m

Hard-to-find made easy



Technical specifications

Type of measurement

Measurement

VESA mounting hole pattern

75x75,100x100, 100x200
200x100, 200x200, 200x300
200x400, 300x200, 300x300
400x200, 400x300, 400x400
600x200, 600x300, 600x400

Weight capacity

k

a

Up to 165 Ib. (75 kg)

Tilt

+15°t0 -15°

Screen size

Instruction manual

813 to 1905 mm
(32to 75in.)

StarTechg-0m

Hard-to-find made easy



Package contents

Wall plate

Qty: One

Right bracket
Qty: One

(| o

M5x14 mm screws

Qty: Four

M6x30 mm screws
Qty: Four

Instruction manual

M6x14 mm screws
Qty: Four

M8x30 mm screws
Qty: Four

StarTechy.0m

Hard-to-find made easy



{

M8x50 mm screws
Qty: Four

=

Short spacers
Qty: Eight

6.3x55 mm screws
Qty: Six

L4

Long spacers
Qty: Eight

Flat washers
Qty: Six

Instruction manual

i

Concrete anchors

Instruction manual
Qty: One

StarTechy.0m

Hard-to-find made easy



Requirements
« Aflat-panel TV that is compatible with a VESA mount

« A Phillips screwdriver

Requirements are subject to change. For the latest requirements, please visit
www.StarTech.com/FLTPNLWALL.

Installation

Warning! Make sure that the weight of the TV doesn’t exceed the weight
capacity of this product. If you exceed the weight capacity, you might experience
personal injury or damage to the product. This product can support the
following weight: Up to 75 kg (165 Ib.).

Attach the wall plate to the wall

N Warning! The wall mount is designed to be installed on a wood stud, solid
concrete, or cinder block wall. The wall structure should be capable of supporting
at least four times the weight of the mounted equipment. The mounting hardware
included with this product may not be adequate for installation on certain wall
structures. If you lack the necessary expertise to attach this product, contact a
construction professional to install the wall mount or to provide specific mounting
instructions for your wall structure. Failure to do so may result in personal injury and/or
equipment damage.

1. Use a pencil to mark the location on the wall where you want to attach the wall
mount.

Note: You can use the holes or slots on the wall mount to attach it to the wall.

2. Follow the appropriate steps for the type of wall that you're attaching the mount to
and attach the wall plate (1) to the wall.

Mounting holes and slots

Mounting holes and slots

StarTechy.0m

6 Hard-to-find made easy

Instruction manual



Select the appropriate mounting hardware

To accommodate different TV designs, the FLATPNLWALL comes with three sets of
screws of different lengths and diameters, and two sizes of spacers.

To select the combination of mounting hardware that you need to use to attach the
brackets to the TV, complete the following:

« Determine whether the back of the TV is flush or inset.
- Determine the depth of the mounting holes on the TV.
« Determine the diameter of the mounting holes on the TV.

« Consult the images below to see the different hardware combinations available, and
select the one that works best with your TV.

Note: If you're using a TV with a flush mounting surface, you don’t need to use any of
the provided spacers.

The following screw sizes work with a flush mounting surface:

M5x14 mm M6x14 mm
~

The following hardware combinations work with an inset mounting surface:
M6x30 mm M8x30 mm

continued on next page

StarTechy.0m

7 Hard-to-find made easy

Instruction manual



(continued from previous page)
The following hardware combinations work with an inset mounting surface:
M8x50 mm

or

.
[

(C0C_0(0 eommmmm{)

(-—)
—

(—)
—

Attach the brackets to the TV

When you attach the brackets to the TV, make sure that the knobs on the brackets face
outwards. (figure 1)

fiure ! Brackets
A
/ \ i
Top of the TV
(o
Instruction manual StafTeCI".,Om

8 Hard-to-find made easy



Warning! Do not over-tighten the screws. If you encounter resistance while you're

tightening the screws, stop tightening. Failure to do so could result in damage to the

TV.

1. If you're attaching a TV with an inset mounting surface, place the spacers over the
mounting holes on the back of the TV.

2. With the knobs facing outwards, position the left (2) and right (3) brackets so that
the holes on the brackets line up with the mounting holes or spacers on the back of
theTV.

3. Position the four washers (10) over the holes on the left and right brackets. (figure 2)

Note: There are small and large holes in the washers to accommodate different screw

sizes.

4. Insert the screws into the washers, the left and right brackets, the spacers (if
required), and into the back of the TV.

5. Use a screwdriver to tighten the screws. (figure 2)
figure 2

\/ g% X% % g Screw

e—— Washer

Spacer

StarTechy.0m

Instruction manual
9 Hard-to-find made easy



Attach the TV to the wall plate
Warning! Attaching the TV is a two-person job. Do not attempt to hang the TV by

yourself.

Carefully lift up the TV and hook the mounting hardware on the left (2) and right (3)
brackets onto the wall plate (1). (figure 3)

1. Use the Allen key (4) and tighten the screws in the bottom of the mounting
hardware in both of the brackets. (figure 4)

figure 3 figure 4

wall
wall

S s s B e e B
N
O

StarTechy.0m

10 Hard-to-find made easy

Instruction manual



Adjust the tilt of the TV

1. To adjust the tilt of the TV, loosen the tilt-adjusting knobs located on the side of
each of the brackets. (figure 5)

2. Adjust the TV to the angle that you want it to be at, and then tighten the tilt-
adjusting knobs.

figure 5

]

Tilt adjusting
knob

¥
a
i)
1
3
I3
)
¥
"
»
1
¥
¥
2
¥
u

:
|

StarfTechg-om

11 Hard-to-find made easy*

Instruction manual



Technical support

StarTech.com’s lifetime technical support is an integral part of our commitment to
provide industry-leading solutions. If you ever need help with your product, visit
www.startech.com/support and access our comprehensive selection of online tools,
documentation, and downloads.

For the latest drivers/software, please visit www.startech.com/downloads

Warranty information
This product is backed by a five-year warranty.

For further information on product warranty terms and conditions, please refer to
www.startech.com/warranty.

Limitation of Liability

In no event shall the liability of StarTech.com Ltd. and StarTech.com USA LLP (or their
officers, directors, employees or agents) for any damages (whether direct or indirect,
special, punitive, incidental, consequential, or otherwise), loss of profits, loss of business,
or any pecuniary loss, arising out of or related to the use of the product exceed the
actual price paid for the product. Some states do not allow the exclusion or limitation
of incidental or consequential damages. If such laws apply, the limitations or exclusions
contained in this statement may not apply to you.

Use of Trademarks, Registered Trademarks, and other Protected Names and Symbols

This manual may make reference to trademarks, registered trademarks, and other
protected names and/or symbols of third-party companies not related in any way to
StarTech.com. Where they occur these references are for illustrative purposes only and do not
represent an endorsement of a product or service by StarTech.com, or an endorsement of the
product(s) to which this manual applies by the third-party company in question. Regardless
of any direct acknowledgement elsewhere in the body of this document, StarTech.com hereby
acknowledges that all trademarks, registered trademarks, service marks, and other protected
names and/or symbols contained in this manual and related documents are the property of
their respective holders.

StarTechy.0m

12 Hard-to-find made easy

Instruction manual



StarTechgom

Hard-to-find made easy”

Hard-to-find made easy. At StarTech.com, that isn’t a slogan.
It's a promise.

StarTech.com is your one-stop source for every connectivity part you need. From
the latest technology to legacy products — and all the parts that bridge the old
and new — we can help you find the parts that connect your solutions.

We make it easy to locate the parts, and we quickly deliver them wherever they
need to go. Just talk to one of our tech advisors or visit our website. You'll be
connected to the products you need in no time.

Visit www.startech.com for complete information on all StarTech.com products
and to access exclusive resources and time-saving tools.

StarTech.com is an I1SO 9001 Registered manufacturer of connectivity and
technology parts. StarTech.com was founded in 1985 and has operations in the
United States, Canada, the United Kingdom and Taiwan servicing a worldwide
market.

Reviews

Share your experiences using StarTech.com products, including product
applications and setup, what you love about the products, and areas for
improvement.

StarTech.com Ltd. StarTech.com LLP StarTech.com Ltd. StarTech.com

45 Artisans 4490 South Unit B, Pinnacle 15 Ld.

Crescent Hamilton Road Gowerton Road Siriusdreef 17-27
London, Ontario Groveport, Ohio Brackmills, 2132 WT

N5V 5E9 43125 Northampton Hoofddorp
Canada US.A. NN4 7BW The Netherlands

United Kingdom

FR: fr.startech.com ES: es.startech.com IT: it.startech.com
DE: de.startech.com NL: nl.startech.com JP: jp.startech.com

To view manuals, videos, drivers, downloads, technical drawings, and more visit www.startech.com/support




